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1. For the chemical reaction A — C, a plot of 1/A versus time was found to give a straight
line with a positive slope. What is the order of reaction with respect to A?
(A). zero (B).first (C). second (D). Such a plot cannot reveal the order of reaction.

2. Complete and balance the following redox equation. What is the coefficient of OH when
the equation is balanced with the set of smallest whole numbers?
MnO, + T — MnO, + IO, (basic solution)
(A).1 (B).2 (C).4 (D). none ofthe above.

3. Two moles of chlorine gas at 20.0°C are heated to 350°C while the volume is kept constant.
The density of the gas
(A). increases. (B). decreases. (C). remains the same. (D). Not enough information is
given to correctly answer the question.

4. The equilibrium constants (expressed in atm) for the chemical reaction
Nyg + O ~ 2NOQ,
Are K,=1.1x10" and 3.6x10? at 2,200K and 2,500K, respectively, Which of the following
statements is true? '
(A). The reaction is exothermic (B). the partial pressure of NOy, is less at 2,200K

(C). K is less than K_by (RT). (D). The total pressure at 2,200 K is the same as at
2,500K

5.Cay,(PO,), 2 Ksp‘=1.3x10f26, Cay(PO,), Z ¥ ¥ # & (molar solubility)?
(A). 2.6x10°M (B). 1.3x10%M (C). 1.5x10'M (D). 4.6x10°M

6. BEEAMNIREBE B Z R tbE T seBe ik B A pH=4.74 6948 167 57 (B %
Ka=1.8x10") (A). 1.0/1.0 (B). 0.4/1(C). 2.0/1.0 (D). 0.75/1.0
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7. $—FABBEBZAE | FHME4EERA). AE° SARMEHERK RA
B). AE° RAMRBRERYE (O). FREXSHHMBHEIAE Fifd
D). AE" HABE &K

8. O +0; = 20,

LR BZEIRRES 25 kI/mol. R R B #HAH=-388kl/mol. M LR BZ ERA
#iEILRE B (A). 388k)  (B). 363k} (C).25kJ (D). 413kJ

AR WM RS AR S (TRA SR, B 15 &

2 NO, + Oy INOy) , A RE—FHMZFHRM, £ 2SCHATHERBZ

RENBKFTIXICMA R ERFABRETERBZEE N R K A?
[NOg Oy ,NO,,, ZAREAE A 8 B85 %] A 86.7 ki/mole, 0 ki/mole, 51.8 kJ/mole]

. - RERBHET EACH),0 ##ATRR, (CH,),0p —>CHyy+ Hy,+ COy, #
(CH).0p A—RRE2 M, LR E % # k=3.2x10%"(450C), (CH,),0,, 28R A A
0.350atm A P18 -4tk A MAR A % % ) atm?

. The SO, present in air is mainly responsible for the acid rain phenomenon. Its concentration can
be determined by titrating against a standard permanganate solution as follows:

580,+2Mn0O, +2H,0 -». 5802 + 2Mn** +4H'

Calculate the number of grams of SO, in a sample of air if 7.37 mL of 0.00800 M KMnO,
Solution are required for the titration. (AW: S=32, O=16)

. On heating a gaseous compound A dissociates as follows:

A(s)

In an experiment A was heated at a certain temperature until its equilibrium pressure reached
0.14 P, where P is the total pressure. Calculate the equilibrium constant (K,) of this reaction.
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